ASSEMBLY INSTRUCTIONS MODEL: LILIUM COFFEE TABLE

C D
CSK Cap Screw M6x50 | CSK Cap Screw M6x40 | Wood Dowel M8 x 25 Wood Dowel M6 x 25
10pcs 20pcs 12pcs 48pcs
E F G H
PART LIST ) Y e
7 5 @
NO| DESCRIPTION | QTY & =
1 |Top Panel 1pc
2 |Bottom Panel 1pc Quick Fix Bolt Quick Housing @15x12 | Quick Housing @15x9 CSK Screw M3.5 x 12
3 |Side Panel 2pcs 30pcs 10pcs 20pcs 40pcs
4 |Center Panel 1pc | J - K L
5 |Back Panel 2pcs
W O
6 |Drawer Head-L 2pcs (((((( K3
7 |Drawer Head-R 2pcs (f@ K1 M
8 |Drawer Side-L 4pcs A K2
9 |Drawer Side-R 4pcs
2 CSK Screw M4 x 16 Leg Handle With Screw Allen Key M4
10 _|Drawer Back pcs 16pcs 4pcs 4sets 1pc
11 |Drawer Suppor 4pcs M
12 |Drawer Bottom 4pcs
{\i;\
R
\\
Drawer Slide (250mm)
g] 8pcs




Step 4 (x2

x4

Step 3

2 (x4

Ste

Step 1 (x4

Page 2/4

L-REV



AutoCAD SHX Text
step 1  Unlock

AutoCAD SHX Text
step 2

AutoCAD SHX Text
step 3  Lock

AutoCAD SHX Text
Hole Down


Step 9 (x4)

Step 8

Step 11 (x2)

Page 3/4

L-REV






AutoCAD SHX Text
step 1  Unlock

AutoCAD SHX Text
step 2

AutoCAD SHX Text
step 3  Lock


	Sheets and Views
	Model


